
MTS WHEEL

Instruction Manual
Bedienungsanleitung

Mode d‘emploi



2MTSIM MTS WHEEL INSTRUCTION MANUAL

2x

1x

PARTS
1x

1x 1x

[dimensions in mm / different scales]
No extra or spare parts listed!

555

40

80 412

40

80

threads
both sides

530

40

80

threads

1x 1x

OR
as ordered

2x

 80 

 4
0 



3MTSIM MTS WHEEL INSTRUCTION MANUAL

4x
M8

4x

 30 

 Ø
8 

2x

20x

 8,4 
 16 

4x

 
8 

 25 

black

black

black

4x

4x

 
6 

 16 

black

2x

 80 

 4
0 

2x

 8 

 3
2 

 63 2x

BAG WH1

BAG WH2

20x
M8

M6

4x

 
8 

 14 

4x

 
8 

 14 

 80 

 4
0 



4MTSIM MTS WHEEL INSTRUCTION MANUAL

BAG WH3

4x
 

6 

 16 

4x

 
6 

 20 

4x

 
6 

 25 



5MTSIM MTS WHEEL INSTRUCTION MANUAL

1x 1x

4x

 2
5 

 Ø32 

 Ø6 

 4,1 
 15 

 1
2,

8 

8x

M6
4x12x

 6,4 
 12 

 6,5 
 10,8 8x 8x

 
4 

 20 

PRE-ASSEMBLED

with this parts:



6MTSIM MTS WHEEL INSTRUCTION MANUAL

412 mm

ASSEMBLY 2x slot nut M6

special cap

2x slot nut M6

special cap

OR
4x slot nut M8
for front mounted wheel



7MTSIM MTS WHEEL INSTRUCTION MANUAL

4x roller

4x bearing

4x M4x20
flat head

4x curved spring washer

USUALLY PRE-ASSEMBLED

2x cross handle

6x washer Ø12

2x
slot nut

M6

2x

2x



8MTSIM MTS WHEEL INSTRUCTION MANUAL

M8x25

lever

both sides

2x washer Ø16, black



9MTSIM MTS WHEEL INSTRUCTION MANUAL

555 mm
530 mm

4x pre-assembled
universal connector

Use a plan surface Use a plan surface 
for assembly.for assembly.

caps

threadsthreads

threadsthreads



10MTSIM MTS WHEEL INSTRUCTION MANUAL

4x
slot nut

M8

4x
slot nut

M8

4x
M8x14

flat head
black

for both sides

min. 80 mm

before 2024
(6mm thick plates)

4x M8x16
flat head, black



11MTSIM MTS WHEEL INSTRUCTION MANUAL



12MTSIM MTS WHEEL INSTRUCTION MANUAL

4x
slot nut
M8

on the
other 

side
too

4x
M8x14

flat head

on the
other 
side too

before 2024
(6mm thick plates)

4x M8x16
flat head, black



13MTSIM MTS WHEEL INSTRUCTION MANUAL

roll into the 
upper slot

detail view

Loose these 
levers and bolts 
a little on each 

side .



14MTSIM MTS WHEEL INSTRUCTION MANUAL

2x
M8x14

flat head
black

screwable cap
on each side

2x
M8x14

flat head
black

Choose fitting length 
from various delivered 
M6 bolts.

universal
      wheel plate

before 2024
2x M8x16

flat head, black

before 2024
2x M8x16

flat head, black



15MTSIM MTS WHEEL INSTRUCTION MANUAL

4x 
M6x16

flat head
black



16MTSIM MTS WHEEL INSTRUCTION MANUAL

ALTERNATIVE FRONT MOUNTING

4x 
M8x14



17MTSIM MTS WHEEL INSTRUCTION MANUAL

OPERATION

Loose the red 
marked bolts 
on each side 
to adjust the 

height.

Loose the 4 cross handles.

Grab on both sides
and move evenly!



12-01-2024


